ARSI O7—X

P i LD K& =Y iR 42°C R E 64%
*ﬁﬁfﬁ’:ﬁ@mgﬁ RRFOE g AR EY R :4.2°C iR 64%

1. £AH FHNRIT:H 22. 1. 8[13:00] A% 1:H 22¢ 1. 8[16.:00]

2. 5P HEASSEMBERETE (BHER)

3. EE [o#H]kk  [FrrlFstR [MARE11EE: TE

4. B (A-D-)BIFREHB (ETE)INAILES4 /N (EF) SP110

5. *JJEF”‘%%EH H 5 —F—F

6. % *;F CC( // // )

7. ﬁﬁﬁ’l’*ﬂ B%iH

8. E1THREER R SAIRR—h— faine—h— |£31:2.5h

9. HIEIA AL XBEAH Fek—4a  — @ —km

10. NOx-PMx»t 5k his; X SR ih i 5%

11. PREE{R K-S1(091216) |290cciZn

12. BB A RS BIE 2

(A—=A—)HODAKA {(FZYHT-3000

13. PM(RIFIRE) Bl E s

(A—H—)HORIBA {fFZEYMEXA-

600SW (A /32 A—5—)

[(BEE A A7 AlE ] K—S1 J7AKJ>%] 1,000rpm | 2.000rpm || B
v SRANET | 485 796 | 150.2
H R _ o
B 71 Al [ T-eas(C) i | 531 80.1 154.7
48 NINET 9.2 9.2 9.0
T-oill
SRR sECO e | 80 8.0 7.9
. swnaT | 1773 | 1742 | 16.47
ft = JBE o 02(%
BRiRE S s=mE | 17.96 4 177271663
_ - wmar | 20 23 3.0
IR EERE 002(%
BRAE BRI 29005 e | e 21 3.0 4.1%
A gt | 243 302 223
— = JEE oF CO s 0
BB SRR (o) [ sinie b 189 231 21g | 16-9%
. ssingn | 265 289 186
— TR A 2o 8 gE NO 1
BIEERERE pm) W sinie | 250 262 172
_ SHINET 91 113 76
_RRIEERRE NO :
BILERRE 20PN | e | 7 94 72
. swmnan | 356 402 262
Zo Vi = = \ NO 1
ZEREIEWEE(/Y /2R ) NOx(ppm) wm | e8] b e 244 8.1%
— 08I 0 0 0
.y B e
—BiEmEIRE PO2epm) - [ a| o 0 0
. SRR 23 30 19
oy SEE g H2S 0
BRAL kR 2seem O RS 1. | 33.3%
) SHb e o O« C3Hs iﬂéhﬂﬁﬁ 0 0 0
RALKFIRE (TR/NV) 00 =mé | 53 62 X
[PM (B FKDE) HIE] 1EE8 | 2mE | sEB | $5E B =
S ANBI(m ) 4589 351 3407 3.84 ]
HI#EmM) 3.766 2.05 2.079 2.63 31.9%
®I?§}JD Al /E'IE=>/?§7JIII=>2 5h0)JE%ﬁﬁ'?ﬂ*\'}./ﬁ:%ﬂ%ﬂﬂfﬁ}ﬂ'l;ﬁfo
B QFBIERDOEMIKEEIL, EERHROEAFEL=,
QIR BEEZTEERYSHHE. T—F3DESMEEEELT-.
@F M QBBEREN 0. RENERER RSN,




ggz(%)

3.0
2.5
2.0
1.5

[CO2=E Z1bfE]

TARYLY
——{i7:C02(%) 2.0
=1 .C02(%) 1.9

CO(ppm)
330

b

—~ MV

% :CO(ppm) |

1,000rpm

2,000rpm

302

223

&L
'A

Lt o

231

T 2BlEREY

[NOXRE 2

1,000rpm

218

B

2,000rpm

262

244

T - e |

A3 FRHRTE(ZD1)




